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* If POND is coded as RSTL, how is HEAR written in that code?
* Jfe POND &I RSTL & &U H hifed fRAT ATAT 2, a1 37 i § HEAR &t




®* Raju is 10th from the top and Ravi is 21st from the bottom. There are 3
students between them. How many students are there in the class?

* TR FUTH 105 TATT W 7 3R A =0 & 21 o T W 37k e §
HET H et foha DT §2

e

1™ = 55
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®* Raju is 10th from the top and Ravi is 21st from the bottom. There are 3
students between them. How many students are there in the class?

* TN HOR § 10 T WX 2 SR T o & 21 F T4 W1 37 e § 3 B &
HET H et foha DT §2







® Veni is one year older than Smith. Smith is two years older than Salim.
Raju is one year older than Salim. Accordingly, who is the youngest among
them?

* T, BHer € Uk AW TSt 7| Ruy, Aoty @ 31 a9 921 7| S, A 9 Tk qW
ST 2| HgANR, ITH T8 BIET R 8?2

@ N> Smithy Qqaw

S 7 S, D. Smith




® In an examination, Rahul got 11th rank among the successful students and
he was 47th from the bottom. Three students could not appear in the

examination. One student failed. What is the total number of students?

* Teh THT W et U ferenterat | Tget st 18T ¥ et aur a8 =fier & 4741
T WY M| 1 ferame udrern & sufRera 72 21 ekl Uk forameft sTawet @
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*P,Q, R and S are four friends. Height P is shorter than Q but taller than
R, who is shorter than S. Who is the shortest among t

* P, Q, R 3R S TR fix 8| o171 P, Q W BIET &, eifehd @rw%
BIET 21 37 T+ T TraTs | 9oy BT B 82

>P> R




® Shrini is taller than Anlu and Raghu is taller than Chandru but shorter
than Vrinda. Similarly, Shrini is younger than Chandu. Accordingly, who

is the tallest?

”5' , T W AT & 3R T, =g | AT 8, ATk a1 & BIeT 81 et g o,

=g | BT 8| TgaW, Herd SATET oTwl hid 2?2

A.Shrini




®* In a row at a bus stop 'A' is 7th from the left and 'B’ is 9th from the right.
They both exchange their places. Now 'A' becomes 11th from the left. How

many people are there in the row?

Q\}\’\
* H TIU UX Uk Ufh W 'A' aTft oTR A gﬁm&aﬁﬁ
AU TATAT <hT ATAT-TEAT i oid g 31T 'A arrq"faﬁ'{@r}laﬁ‘rm%l ufw
T et foher oTrT €2




® In a row of 40 girls, when Kanika was shifted to her left by 4 places her
number from the left end of the row became 10. What was the number of
Swati from the left end of the row if Swati was three places to the right of
Kanika’s original position?

* 4() TTSTRAT <h Uek Uk W, ST Shi-ehT ohl 3@k AT 3TN 4 TATT TATATANT Y
o= T, At Uitk o aTd B O 3Rt HEAT 10 B TS| Uitk & 910 SR | W&

<1 A fehadT oft, af TaTfa 318 3T i T oft? shieny sht Her feerfa w12
—

i) G




® Manu is 7th from the bottom end in a row of people. Shrey is 10th place
above Manu. If Shrey is 8th from the top end, then how many people are
there in this row?

o ST <ht Ueh Ufth W AT 1o SR T 73 T W R 99, W W 10 T HW D
I T FUT & B A §9 TATH WX 2, A1 3 Utk H fehad AT 2 2
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e |
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® There are 6 boys in a row between A and B and A is the first boy in the
row. There are 3 boys between B and C. If there are 12 boys after C, then

what is the minimum number of boys in the row?

. QEﬁﬁFﬁAHQTBﬁ?HWﬁ6FI€%§WA‘TﬁFﬁWWT g %‘l B




® In a row of 74 girls, Shweta is 27th from the left end. Palak is 7th to the
right of Shweta. What is the position of Palak from the right end of the
row?

o 74 TTERmEt BT TR R H, ST T BR (27D T W E | T, ST R A
73 TATT U T | TeTeh hT TATT UTh o SR BRI IR A FATE 2




* Among P, Q, R, S and T, S is older than R but not as older as T, Q is older
than only P. Who is the youngest among them?

*P,Q,R,SIHRTHS, RATST 2 Afha T Rrar aer 721 2, Q b p A w=T 21

.' “‘ 0 J“ - |

ITH A ATT BT RIS ?

D.None of these




* Among the five friends, Mahesh is taller than Karan. But not Yash,
Hrithik is taller than Yash but not Abhishek. If they are made to stand in
the order of increasing height, then who will be first in the row?

* Uil Tt ® & WEIT, ShI0T ¥ AT g1 U 97 & &Y, Ficieh I W &l § W
AT | T AT Teh1 AGAT §3 TIATS oh SHH | @I fohal 1T, A1 T &
TE TATT U hid BT 2

A.Abhishek

B. Karan
C.Yash |
D.None of these




*A,B,C,D, E and F are sitting in a row facing north. A is neighbor of B
and D, E is neighbor of C and F, D is neighbor of C then how many
members are there between A and E?

* IR faom i st Hz fohdr A, B, C, D, E 3R FUs Ul ¥ 9 ) A S & B
3T D ST, E USIET E C 3T F T, D USTHET @ C ST ad A 3 E o 9e7 fehaer
AT & ?

A2
B.1
C.3
D.4




®* Each of A, B, C, D and E scored different marks. B scored less than only E
and A scored more than only C. Who gets the highest marks among them?

* A, B, C, D 3R E ¥ & Tk TTT-3TT 3k UTH AT ¢ | B hdeT E O HH
37k ATAT & TAT A hdeT C T 3TTeEH 37k TTH AT gl ITH T TS 37k
I ITH HLAT 2 2




* A, B, C,D and E each have different amount of money. C has more money
than only E. B has more money than D but less money than A. Who among

them has the most money?

* A,B, C,D 3R E H & Tcdeh o UTH -7 S-RITE | C & UTH T E H
HATErR & 7 | B & U8 D | Ifereh fohg A & & o0 g1 379 | foheeh urer wam

A.B
B.A
C.D |
D.None of these




